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ASSESSMENT

Measurérea using SingleSquare

Measurement and Geona3ry

We have included the starred Levels with a logical basis to the grade Level, in this assessment, allowingtehitriemighes
Level ofinderstanding. If children are familiar with models other than these, they may demonstrate their understand

Because there are so many Levels of Measurement, we have included larger images of each Level fron
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Is the straw langer than the stick?
Is the ribbon longer than the straw?

So is the ribbon also longer than the stick?
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If the blue triangle has a smaller area than t

If the circle has a larger area than the square,
and the square has a larger area than the triangle,
then does the circle have a larger area than the triangle?

and the green triangle has a smaller area than the orange triangle,
then does the blue triangle have a smaller area than the orange triangle?

light

lighter

he green triangle,

heawy

heavier

larger volume,
smaller volume

S
BB

larger capacity smaller capacity

gap
gap
overlap
overlap

-
overlap

gap

peodlf

Aasquare Is the best shape because if we

square
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Ifthe marble s lighter than the block, and the biock i lightor than the
pencil case, is the marble also lighter than the pencil case?
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the marble, is the pencil case alsa heavier than the marble

heavier than
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15 e second model’ voume salle han e B model’s vokume?

15 e i o’ vome lrpe hanth second mode's vome?

Mass of pencil case = 9 blocks Mass of pencil case = 6 marbles block is lighter marble is heavier

Why do we need fewer marbles than blocks
to measure the same mass?

Why do we need more blocks than marbles
to measure the same mass?
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o018 model’s vl also ager 1 e frt moe’s vokume?

Volume:
30+24 =54 54 cubic centimetres

i the capacity of the botte,
1 tre and 280 millitres?
s 1 itre and 260 millitres,
11280 mi?

1 tre and 260 millires,
1280 mi?

180 metres
1 metre is o Kilometre

Divide number of metres by 1000

to measure the same length n kllometres
because a kilometre is 1000 times

Ionger than a metre so we will need
1000 times fewer than metres.
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different areas

Same area diflerent perimeters

Y W

© 202(\ Learning Place A Teaching Rilagonal Mathematics


http://www.alearningplace.com.au/

HH=VSIISSS\Y|SNAl  Selecthe Level that allows you to demonstrate your highest unders

Selecta rectangle

[ L]

Multiple uniform informal unit&’hysquaresare best.

Fill the rectangle with triangular units, rectangslgmanatsnitandcircle units
Explain which unit of measurement is best toaneasure
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HORYESII=S|ISN] Select the Level that allows you to demonstrate your highest unde

Multiple uniform informal unite&’hysquaresare best.

Selech rectangle

Fill the rectangle with triangular units, rectangular unitsitsgaagecircle units.
Explain which unit of measurement is best to measure area.

[ 1]/ [
AVAV L]

Measure area using a single square

Selecshape

Have a square

Measure the areah# tectangle by creating a square grid by marking and moving tt
Record the area of the shape
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Complete Measurement Levels

© 202(\ Learning Place A Teaching Rilagonal Mathematics


http://www.alearningplace.com.au/

